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Lichtart P35, Y, =10Q Yy=50
Name Bereich X, Vi 7, % Yy Dy A
R, 575_775 86.85 68.98 26.28 0.4768 03787 665 OO0

Vi 500775 996 9731
G, 500_575 64.68 78.42
C, 380_575 688 8116
B, 380_500 56.05 5283
M, 575_500 90.97 71.72

27.49
27.47
52.44
5123
5125

0.4438 0.4336 578 472
0.3791 0.4597 548 548¢
0.3399 0.4009 496 605
035 03209472 578
0.4251 0.3352 5480548

W,,380_775 103.689.99 52.43 0.4047 0.3904 100%
N, 380_775 5183 49.99 2621 04047 03904 50%
7, 380_775 1866 180 943 0.4047 0.3904 18%
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Parameter:

Y & Name
Lichtart P35
Y,,=100 Y,=50
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